Table 14

NUMBER OF TWO DAILY PATTERNS FOR 1994-2001

(Continued and end)

Pattern  f(1994) £(1995) £(1996) f(1997) £(1998) £(1999) £(2000) f(2001)

-20
21
-21
2-1
-2-1
22
-22
2-2
-2-2
Total 126
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7. DO THE MOST OBSERVED

5 5 3 6 7

6 6 9 9 7

1 8 8 7 9

4 0 2 2 4

3 7 3 7 5
13 11 14 6 15
8 8 8 6 8

5 8 6 4 4

3 12 4 10 16
126 124 118 95 150

This question is something like to find a

PATTERNS WITH DIFFERENT path composed of most observed patterns
LENGTHS COMPATIBLE with different length. Table 15 shows us
WITH EACH OTHER? patterns that have highest frequencies.
Table 15
PATTERNS THAT HAVE HIGHEST FREQUENCIES
Two Daily Patterns Three Daily Patterns Four Daily Patterns
Patterns f Patterns f Patterns . f
22 91 222 19 1212 6
-2-2 69 -2-2-2 17 -2221 6
21 58 -222 16 . 2222 5
12 57 221 16 -2222 S
11 55 00-2 13 2220 5
[-2-2 13 2202 5
22-2 12 2211 5
220 12 22-2-2 5
121 12
122 12

What comes After what? Pattern statistics for the... 111




